
This page was exported from - Braindump2go Free Exam Dumps with PDF and VCE Collection 
Export date: Thu May 2 2:55:49 2024 / +0000  GMT

[2017-New-Exams100% Real 2V0-602 Questions and Answers 275Q Free
Download in Braindump2go[131-140

	2017 Oct New VMware 2V0-602 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 2V0-602

Questions: 1.|2017 New 2V0-602 Exam Dumps (PDF & VCE) 275Q&As Download:https://www.braindump2go.com/2v0-602.html 

 2.|2017 New 2V0-602 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNQnZDZHlKOU5xWm8?usp=sharing QUESTION 131How many Link

Aggregation Groups (LAGs) can be configured on a vSphere 6.x Distributed Switch? A.    64B.    96C.    128D.    256 Answer: A

QUESTION 132Which two NFS Protocol versions does vSphere 6 support? (Choose two.) A.    Version 3B.    Version 3.1C.   

Version 4D.    Version 4.1 Answer: AD QUESTION 133An administrator is attempting to restore a number of files in a directory

within the Operating System of a virtual machine.How can the administrator restore the files from a previous backup? A.    Use the

File Level Restore option from the selected backup of the virtual machine in the vSphere Web Client.B.    Connect to the File Level

Restore tool from a web browser in the virtual machine.C.    Connect to the File Level Restore tool from the VMware Data

Protection appliance.D.    Use the File Level Restore option from the selected backup of the virtual machine in the vSphere Client.

Answer: B QUESTION 134An organization has a number of virtual machines that would benefit from Fault Tolerance.These

include:A single vCPU Apache ServerA dual vCPU vCenter ServerA quad vCPU SQL ServerAn eight vCPU Hadoop ServerWhich

two virtual machines can be configured to use VMware Fault Tolerance? (Choose two.) A.    Apache ServerB.    vCenter ServerC.   

SQL ServerD.    Hadoop Server Answer: AC QUESTION 135From which two locations in the inventory hierarchy can you deploy a

virtual machine using a template? (Choose two.) A.    Directly from the template.B.    From a compute resource.C.    From an

existing virtual machine.D.    From a Datastore. Answer: AB QUESTION 136What is a benefit of using Enhanced vMotion

Compatibility for an environment? A.    EVC masks CPU features to allow compatibility between hosts that are dissimilar.B.    EVC

allows for cross platform vMotion to occur.C.    EVC enables Long Distance vMotion.D.    EVC enables Storage vMotion

functionality. Answer: A QUESTION 137What are three valid disk configurations for the vSphere Data Protection 6.x Appliance?

(Choose three.) A.    500GBB.    1TBC.    1.5TBD.    2TBE.    4TB Answer: ABC QUESTION 138Your manager has given you a

bash script that retrieves data for ESXi 6.x host configurations. This data needs to be collected right after the installation of a host

and must be run directly on the host.Which two actions can be used to run this script on an ESXi host? (Choose two.) A.    Connect

to the host with Ruby vSphere Console and run the script from there.B.    Enable SSH access from the Direct Console User

Interface.C.    Enable the ESXi Shell from the Direct Console User Interface.D.    Run the script directly from the vSphere Web

Client. Answer: BC QUESTION 139How are ports scaled on vSphere Standard Switches (vSS)? A.    Ports on a vSS can be

dynamically scaled up and down.B.    Ports on a vSS can only be statically scaled up or down.C.    Ports on a vSS can only be

dynamically scaled down.D.    Ports on a vSS can only be dynamically scaled up. Answer: A QUESTION 140An administrator has

configured an alarm to be notified when a virtual machine meets two conditions:high virtual CPUhigh active memory consumption

The alarm is malfunctioning and triggering when either condition is met instead of both.What can be done to correct the issue? A.   

Edit the alarm and select Trigger if ALL of the following conditions are satisfied.B.    Edit the alarm and select Trigger if ANY of

the following conditions are satisfied.C.    Create two separate alarms, one for CPU and one for memory.D.    Delete the existing

alarm and create a new event based alarm. Answer: A  !!!RECOMMEND!!!  1.|2017 New 2V0-602 Exam Dumps (PDF & VCE)

275Q&As Download:https://www.braindump2go.com/2v0-602.html   2.|2017 New 2V0-602 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=Gcvb9tViWeI
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